Transfers Report

This report contains the transfers results.

Contest Name	Ward 10 - Eilean a' Cheò
Valid Votes	5,001
Positions to be Filled	4
Quota	1,001

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Campbell DICKSON	Independent	. 216
John FINLAYSON	Independent	1,449
Hamish FRASER	Independent	339
John GORDON	Independent	453
Ronald MACDONALD	Independent	717
CALUM MACLEOD	Scottish National Party (SNP)	626
KEN MACLEOD	Scottish Liberal Democrats	97
MALCOLM MACLEOD	Scottish Conservative and Unionist	319
Drew MILLAR	Independent	213
Peter O'DONNGHAILE	Scottish Labour Party	98
lan RENWICK	Scottish National Party (SNP)	310
Moira Elisobeth SCOBBIE	Independent	164
	Т	Total 5,001

Candidate John FINLAYSON Elected with 1,449 votes, being in excess of the quota of 1,001

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of John FINLAYSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Campbell DICKSON	109	0.30917	33.69953
Transfer to John FINLAYSON	0	0.00000	0.00000
Transfer to Hamish FRASER	184	0.30917	56.88728
Transfer to John GORDON	265	0.30917	81.93005
Transfer to Ronald MACDONALD	364	0.30917	112.53788
Transfer to CALUM MACLEOD	99	0.30917	30.60783
Transfer to KEN MACLEOD	31	0.30917	9.58427
Transfer to MALCOLM MACLEOD	40	0.30917	12.36680
Transfer to Drew MILLAR	91	0.30917	28.13447
Transfer to Peter O'DONNGHAILE	21	0.30917	6.49257
Transfer to Ian RENWICK	24	0.30917	7.42008
Transfer to Moira Elisobeth SCOBBIE	107	0.30917	33.08119
Value of non-transferable ballot papers			35.25805
	Total		448.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Peter O'DONNGHAILE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Campbell DICKSON	3	0.30917	0.92751
Transfer to Campbell DICKSON	1	1.00000	1.00000
Transfer to John FINLAYSON	0	0.00000	0.00000
Transfer to Hamish FRASER	12	1.00000	12.00000
Transfer to Hamish FRASER	2	0.30917	0.61834
Transfer to John GORDON	3	0.30917	0.92751
Transfer to John GORDON	4	1.00000	4.00000
Transfer to Ronald MACDONALD	5	1.00000	5.00000
Transfer to Ronald MACDONALD	2	0.30917	0.61834
Transfer to CALUM MACLEOD	1	0.30917	0.30917
Transfer to CALUM MACLEOD	10	1.00000	10.00000
Transfer to KEN MACLEOD	24	1.00000	24.00000
Transfer to KEN MACLEOD	2	0.30917	0.61834
Transfer to MALCOLM MACLEOD	4	1.00000	4.00000
Transfer to Drew MILLAR	2	1.00000	2.00000
Transfer to Drew MILLAR	1	0.30917	0.30917
Transfer to Ian RENWICK	3	1.00000	3.00000
Transfer to Moira Elisobeth SCOBBIE	10	1.00000	10.00000
Transfer to Moira Elisobeth SCOBBIE	3	0.30917	0.92751
Value of non-transferable ballot papers			24.23668

Total

N.B. The figures may not add due to rounding.

104.49257

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of KEN MACLEOD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Campbell DICKSON	6	1.00000	6.00000
Transfer to Campbell DICKSON	1	0.30917	0.30917
Transfer to John FINLAYSON	0	0.00000	0.00000
Transfer to Hamish FRASER	2	0.30917	0.61834
Transfer to Hamish FRASER	16	1.00000	16.00000
Transfer to John GORDON	9	1.00000	9.00000
Transfer to John GORDON	2	0.30917	0.61834
Transfer to Ronald MACDONALD	1	0.30917	0.30917
Transfer to Ronald MACDONALD	12	1.00000	12.00000
Transfer to CALUM MACLEOD	9	1.00000	9.00000
Transfer to CALUM MACLEOD	2	0.30917	0.61834
Transfer to MALCOLM MACLEOD	6	0.30917	1.85502
Transfer to MALCOLM MACLEOD	22	1.00000	22.00000
Transfer to Drew MILLAR	7	1.00000	7.00000
Transfer to Peter O'DONNGHAILE	0	0.00000	0.00000
Transfer to Ian RENWICK	3	1.00000	3.00000
Transfer to Moira Elisobeth SCOBBIE	13	1.00000	13.00000
Transfer to Moira Elisobeth SCOBBIE	5	0.30917	1.54585
Value of non-transferable ballot papers			28.32838

Total

131.20261

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Moira Elisobeth SCOBBIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Campbell DICKSON	14	0.30917	4.32838
Transfer to Campbell DICKSON	15	1.00000	15.00000
Transfer to John FINLAYSON	0	0.00000	0.00000
Transfer to Hamish FRASER	14	1.00000	14.00000
Transfer to Hamish FRASER	12	0.30917	3.71004
Transfer to John GORDON	20	0.30917	6.18340
Transfer to John GORDON	27	1.00000	27.00000
Transfer to Ronald MACDONALD	39	1.00000	39.00000
Transfer to Ronald MACDONALD	19	0.30917	5.87423
Transfer to CALUM MACLEOD	6	0.30917	1.85502
Transfer to CALUM MACLEOD	12	1.00000	12.00000
Transfer to KEN MACLEOD	0	0.00000	0.00000
Transfer to MALCOLM MACLEOD	9	1.00000	9.00000
Transfer to MALCOLM MACLEOD	9	0.30917	2.78253
Transfer to Drew MILLAR	1	0.30917	0.30917
Transfer to Drew MILLAR	15	1.00000	15.00000
Transfer to Peter O'DONNGHAILE	0	0.00000	0.00000
Transfer to Ian RENWICK	8	1.00000	8.00000
Transfer to Ian RENWICK	11	0.30917	3.40087
Value of non-transferable ballot papers			55.11091

Total

222.55455

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Drew MILLAR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Campbell DICKSON	13	0.30917	4.01921
Transfer to Campbell DICKSON	22	1.00000	22.00000
Transfer to John FINLAYSON	0	0.00000	0.00000
Transfer to Hamish FRASER	66	1.00000	66.00000
Transfer to Hamish FRASER	22	0.30917	6.80174
Transfer to John GORDON	17	0.30917	5.25589
Transfer to John GORDON	44	1.00000	44.00000
Transfer to Ronald MACDONALD	29	1.00000	29.00000
Transfer to Ronald MACDONALD	15	0.30917	4.63755
Transfer to CALUM MACLEOD	3	0.30917	0.92751
Transfer to CALUM MACLEOD	19	1.00000	19.00000
Transfer to KEN MACLEOD	0	0.00000	0.00000
Transfer to MALCOLM MACLEOD	12	1.00000	12.00000
Transfer to MALCOLM MACLEOD	3	0.30917	0.92751
Transfer to Peter O'DONNGHAILE	0	0.00000	0.00000
Transfer to Ian RENWICK	3	0.30917	0.92751
Transfer to Ian RENWICK	16	1.00000	16.00000
Transfer to Moira Elisobeth SCOBBIE	0	0.00000	0.00000
Value of non-transferable ballot papers			34.25589

N.B. The figures may not add due to rounding.

Total

265.75281

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Campbell DICKSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John FINLAYSON	0	0.00000	0.00000
Transfer to Hamish FRASER	16	0.30917	4.94672
Transfer to Hamish FRASER	25	1.00000	25.00000
Transfer to John GORDON	97	1.00000	97.00000
Transfer to John GORDON	27	0.30917	8.34759
Transfer to Ronald MACDONALD	28	0.30917	8.65676
Transfer to Ronald MACDONALD	58	1.00000	58.00000
Transfer to CALUM MACLEOD	12	1.00000	12.00000
Transfer to CALUM MACLEOD	14	0.30917	4.32838
Transfer to KEN MACLEOD	0	0.00000	0.00000
Transfer to MALCOLM MACLEOD	5	0.30917	1.54585
Transfer to MALCOLM MACLEOD	9	1.00000	9.00000
Transfer to Drew MILLAR	0	0.00000	0.00000
Transfer to Peter O'DONNGHAILE	0	0.00000	0.00000
Transfer to Ian RENWICK	9	1.00000	9.00000
Transfer to Ian RENWICK	9	0.30917	2.78253
Transfer to Moira Elisobeth SCOBBIE	0	0.00000	0.00000
Value of non-transferable ballot papers			62.67597
	Total		303.28380

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Ian RENWICK

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Campbell DICKSON	0	0.00000	0.00000
Transfer to John FINLAYSON	0	0.00000	0.00000
Transfer to Hamish FRASER	4	0.30917	1.23668
Transfer to Hamish FRASER	8	1.00000	8.00000
Transfer to John GORDON	18	1.00000	18.00000
Transfer to John GORDON	6	0.30917	1.85502
Transfer to Ronald MACDONALD	2	0.30917	0.61834
Transfer to Ronald MACDONALD	6	1.00000	6.00000
Transfer to CALUM MACLEOD	295	1.00000	295.00000
Transfer to CALUM MACLEOD	23	0.30917	7.11091
Transfer to KEN MACLEOD	0	0.00000	0.00000
Transfer to MALCOLM MACLEOD	1	0.30917	0.30917
Transfer to MALCOLM MACLEOD	1	1.00000	1.00000
Transfer to Drew MILLAR	0	0.00000	0.00000
Transfer to Peter O'DONNGHAILE	0	0.00000	0.00000
Transfer to Moira Elisobeth SCOBBIE	0	0.00000	0.00000
Value of non-transferable ballot papers			24.40087
	Total		363.53099

Transfers Report

This report contains the transfers results.

Stage 9 - Surplus of CALUM MACLEOD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Campbell DICKSON	0	0.00000	0.00000
Transfer to John FINLAYSON	0	0.00000	0.00000
Transfer to Hamish FRASER	21	0.00834	0.17514
Transfer to Hamish FRASER	154	0.02698	4.15492
Transfer to John GORDON	294	0.02698	7.93212
Transfer to John GORDON	31	0.00834	0.25854
Transfer to Ronald MACDONALD	11	0.00834	0.09174
Transfer to Ronald MACDONALD	97	0.02698	2.61706
Transfer to CALUM MACLEOD	0	0.00000	0.00000
Transfer to KEN MACLEOD	0	0.00000	0.00000
Transfer to MALCOLM MACLEOD	17	0.02698	0.45866
Transfer to MALCOLM MACLEOD	3	0.00834	0.02502
Transfer to Drew MILLAR	0	0.00000	0.00000
Transfer to Peter O'DONNGHAILE	0	0.00000	0.00000
Transfer to Ian RENWICK	0	0.00000	0.00000
Transfer to Moira Elisobeth SCOBBIE	0	0.00000	0.00000
Value of non-transferable ballot papers			12.04396
	Total		27.75716

Transfers Report

This report contains the transfers results.

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Campbell DICKSON	0	0.00000	0.00000
Transfer to John FINLAYSON	0	0.00000	0.00000
Transfer to Hamish FRASER	2	0.00000	0.00000
Transfer to Hamish FRASER	13	0.00002	0.00026
Transfer to Hamish FRASER	46	0.00029	0.01334
Transfer to Hamish FRASER	87	0.00095	0.08265
Transfer to John GORDON	378	0.00095	0.35910
Transfer to John GORDON	161	0.00029	0.04669
Transfer to John GORDON	42	0.00002	0.00084
Transfer to John GORDON	3	0.00000	0.00000
Transfer to Ronald MACDONALD	0	0.00000	0.00000
Transfer to CALUM MACLEOD	0	0.00000	0.00000
Transfer to KEN MACLEOD	0	0.00000	0.00000
Transfer to MALCOLM MACLEOD	1	0.00002	0.00002
Transfer to MALCOLM MACLEOD	38	0.00029	0.01102
Transfer to MALCOLM MACLEOD	82	0.00095	0.07790
Transfer to Drew MILLAR	0	0.00000	0.00000
Transfer to Peter O'DONNGHAILE	0	0.00000	0.00000
Transfer to Ian RENWICK	0	0.00000	0.00000
Transfer to Moira Elisobeth SCOBBIE	0	0.00000	0.00000
Value of non-transferable ballot papers			0.36925

Total

0.96107

Transfers Report

This report contains the transfers results.

Stage 11 - Exclusion of MALCOLM MACLEOD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Campbell DICKSON	0	0.00000	0.00000
Transfer to John FINLAYSON	0	0.00000	0.00000
Transfer to Hamish FRASER	68	1.00000	68.00000
Transfer to Hamish FRASER	1	0.00002	0.00002
Transfer to Hamish FRASER	5	0.00029	0.00145
Transfer to Hamish FRASER	7	0.00095	0.00665
Transfer to Hamish FRASER	5	0.02698	0.13490
Transfer to Hamish FRASER	15	0.30917	4.63755
Transfer to John GORDON	6	0.30917	1.85502
Transfer to John GORDON	2	0.02698	0.05396
Transfer to John GORDON	20	0.00095	0.01900
Transfer to John GORDON	4	0.00029	0.00116
Transfer to John GORDON	67	1.00000	67.00000
Transfer to Ronald MACDONALD	0	0.00000	0.00000
Transfer to CALUM MACLEOD	0	0.00000	0.00000
Transfer to KEN MACLEOD	0	0.00000	0.00000
Transfer to Drew MILLAR	0	0.00000	0.00000
Transfer to Peter O'DONNGHAILE	0	0.00000	0.00000
Transfer to Ian RENWICK	0	0.00000	0.00000
Transfer to Moira Elisobeth SCOBBIE	0	0.00000	0.00000
Value of non-transferable ballot papers			254.64979

Total

396.35950

Transfers Report

This report contains the transfers results.

Stage 12 - Exclusion of Hamish FRASER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Campbell DICKSON	0	0.00000	0.00000
Transfer to John FINLAYSON	0	0.00000	0.00000
Transfer to John GORDON	1	0.00000	0.00000
Transfer to John GORDON	12	0.00002	0.00024
Transfer to John GORDON	18	0.00029	0.00522
Transfer to John GORDON	32	0.00095	0.03040
Transfer to John GORDON	8	0.00834	0.06672
Transfer to John GORDON	64	0.02698	1.72672
Transfer to John GORDON	80	0.30917	24.73360
Transfer to John GORDON	174	1.00000	174.00000
Transfer to Ronald MACDONALD	0	0.00000	0.00000
Transfer to CALUM MACLEOD	0	0.00000	0.00000
Transfer to KEN MACLEOD	0	0.00000	0.00000
Transfer to MALCOLM MACLEOD	0	0.00000	0.00000
Transfer to Drew MILLAR	0	0.00000	0.00000
Transfer to Peter O'DONNGHAILE	0	0.00000	0.00000
Transfer to Ian RENWICK	0	0.00000	0.00000
Transfer to Moira Elisobeth SCOBBIE	0	0.00000	0.00000
Value of non-transferable ballot papers			431.46312

N.B. The figures may not add due to rounding.

Total

632.02602